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bauare AonTe yBUC

~ BucwHa (y MeTpuma)

2 5 8
Bpeme (y cexyHpama)

KOAMKO BUCOKO je MunkKM OALMO AOMTYS

HOKOH KOAMKO BPEMEHA j€ AOMTA
CTUTAQ Y HQ[BMLLIY TOYKY S

HOKOH KOAMKO CEKYHAM [€ AOMTA NAAQ
HQ UTPAAULLTES

h=-1,6-x>+6,4-x+0,5




KOAMYUMHA (Y MUAUTDAMMMA)
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KOAMYMHA BUTOMMHAO Y OPTAHU3IMY
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Bpeme (y catmma)
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KOAMKM j€ HMBO BUTOMMHA HA MOYETKY
MEepEHA?

KOAMKM j€ HUBO HOKOH 2 CATA?

KoOAMKM je HMBO HOKOH 10 caTme




105

Different Vitamins

Leaving the Body L
X -
Vitamin 1: r(x) = (.l.)

2
X=-9
Vitamin 2: s(x) = (%)
x-7
Vitamin 3: t(x) = (;_) +9

1\%" 2
Vitamin 4: u(x) = 1—5)




BpemeHCKa MporHo3a

Meteogram for Kopaonik, Central Serbia (Serbia) nMext 43 hours =]
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» Kaa je tTemnepatypd Ha KOMAOHMKY MAAQ UCMOA HYAE
(y nocaeara 24 cara)?

» Kaa je Temneparypa AOGHAC NOPACAQ M3HOA HYAE?

» KoAMKa je o4ekMBAHA Temnepatypa y 18:002



BpemeHCKa MporHo3a

Temneparypa
12

~

-14-13-M 7 6 -5-4-3-2-

D 1 2 3 45 67 8 1011121314

[loe KOAMKO CcaTu je
TEMMNEPATYPA MOPACAC
M3HAA HYAE?S

30 KOAMKO CATM CE OYekyje
AQ he TemnepaTtypa onet
MACTU UCMOA HYAE?S

KOKBO NMOHALLIAHE
TEMNEPATYPE CE OYekyje y
HOPEAHMX 5 caTme

KOQkBO MOHALLAHE Ce o4ekyje
30 10 cam, na HOAQrE?S




PacTt bebe

Pact 6ebe y NpBUMM HEAEAAMA
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MOAEAU PACTA MOoNyAdUM|E

long-term
/ — increase
//’ X __\ < leveling off
e ~ readjustment
R = catastrophe

NOW TIME

» PacCT nVYACKe mMonyAdLmie

Exponential Growth

Logistic Growth

Population size

Growth rate continues
toaccelerate forever

Time

Population size

Carrying capacity

Later growth
slows to zero

Point of maximum
growth beforeit

Early growth begins to slow

accelerates
quickly

Time

(@)

(b)



https://ourworldindata.org/population-growth

BakHE eneMeHTapHE CpyHKLM|Ee
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X=-3"
f(x)=x*+6X+9

L O

f(x)=-4x*+56X%-196

'x=3
f(x)= %xz-2x+9
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]
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(2,-5)
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e
f(x)=5x2-20X+15

\

f(x)=-%x’-2x-6




BakHE eneMeHTapHE CpyHKLM|Ee

EKCrnoHeHUMjaAHA

@ =)

fx) = (2)*

/

AOrapUTamcka
log,,(x) gy
. log, 5(x)
2e 10 x
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